
                                                  Exercise  10.4                        _______________      

  	 	 Answer the following:

 for the key of D major,  the RELATIVE MINOR key is                   MINOR   	       

	 for the key of Bb major,  the RELATIVE MINOR key is                 MINOR   


	 for the key of Eb major,  the RELATIVE MINOR key is               MINOR


	 for the key of A major,  the RELATIVE MINOR key is                 MINOR    


          for the key of C# minor,  the RELATIVE MAJOR key is              MAJOR   


	 for the key of D minor,  the RELATIVE MAJOR key is                   MAJOR 

	 for the key of F# minor,  the RELATIVE MAJOR key is                 MAJOR

          for the key of E minor,  the RELATIVE MAJOR key is                  MAJOR  
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